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VIN "CHECK DIGIT" DECODER ! ‘
Beginning with the 1981 model year, all vehicles vwith s CW rating of 10,000 pounds .
or less, have a 17 character fixed format VIN, with & check digit vithia the number. ~ e - »
This applies to passenger cars, multi-purposs passengel vehicles, trucks, buses,
trailers, incomplete vehicles, and motorcycles. The first three characters of the . ,
VIN identify the nation of origin, manufacturer, sake and type of vehicle. The next RS — ;_j
five characters uniquely {dentify the attributes of the vehicle such a8 wodel, body, : ,
engine type, and restraint systém. The ninth characterx is the CHECK DIGIT and 18
intended to verify the accuracy of the VIN, The tenth character represents the
wehicle wodel year; the eleventh represents the plant of manufactures; snd the last
six characters represent the sequential production nu-:et.(Sec your NATB manusl)-
. The followine table and procedure will enshle you toSdecode the vnt'.;mc: PIGTT™.
"/134567%410» 13 04 157 (b 17
AT 1M 4sts /llb/(ﬂ-‘é%(;cé}
'[';jg(ei},L!&} }153(3005’
- - 3 12
) “F T Gls 14131240 7ozl els =
S orsiis (e [3 b ol 1Lk glololell
s L - e .- final s
On line "A" enter the 17 digit VIN. On 1ine "B" enter the “assigned
value” of each character of the VIN, utilizing cable "B", showm below.
Multiply the numbers in iine "B" by the numbers in line "C", for each nr?-“—.
of the 17 dgits in the VIN. Record the product of each of these sepsrate
computations in the appropriate boxes in line "D". Add together all of
the numbers recorded in line "D" and enter the final sum in the space
provided. pivide the final sum by the nusber #11". The remainder of this
division is the "CHECK PICLT" (the 9th character of the 17 digit VIN).
1f the remainder of this division is 2 single digit number, them it should
match the "CHECK DICIT" in the VIN exactly; 1if the remainder is the number
v10", then the "CHECK DIGIT" is the letter X",
TABLE "8" '
Ael J=1 T=3 1=1 6=6 Assign to each number in the VIN its actual value and
pu2 K=2 U=t 2=2 7=7 record that value in the sppropriace box in line "B".
Ce3 L=} V=5 3j=3 8=8
D=k Med U=b 4=4 9=9 The letters of "I", wo" & Q" are never used io the
E=S N=5 X=7 =5 0=0 new 17 digit VIN'S.
re6 P=7 Y=8
=7 R=9 29
He8 S=2
70 determine the yearl of manufacture frow the 17 digit VIN (character #10 of the VIN)
use the folloving:
1980=A 1982=C 1984=E 1986=C
1981=38 1983=D 1985=F 1987«H Etc.
. v
EZxample: 1981 Ford Mustang VIN - 1FABPIZMBRI01093 Final Sum * 246 22 ’
11 246 (2/
22
2
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YIN "CRECK DICIT" DECODER

Seginning with ths 1981 model year, all vehiclas with & GW rating of 10,000 pounds
or less, have a 17 character fixed format VIN, with a check digit vithin the aumber.
This applies to passenger cars, sulti-purpose passenger vehicles, trucks, buses,
trailers, incomplete vehicles, end motorcycles. The first three characters of the
YIN identify the nation of origin, manufscturer, make and type of vehicle. The next
five characters uniquely identify the attributes of the vehicle such as wodel, body,
engine type, and restraint system. The ninth character is the CHECK DIGIY and is
intended to verify the sccurscy of the VIN., The tenth character represents the
wehicle model year; the eleventh represents the plant of ssnufacture; and the last

8ix characters repr t the sequential production m-:::.(SuymMﬂ manvel). —
1o, T8 following table and procedure vill enshle you to'decode the VIN's “CHECK DICTT".
® AW SN ST W N T
JImpaiefstije 214 All31elolo Y
REiEIEFII R ;33\;3?&{ |
[~ 1 sl |3 2O : | -
gaﬁé’wsg 3ol 1gl8 rd&Bolo [olL )
. T, R P - - - © final s

On 1ime "A" enter the 17 digit VIN. On line "B” enter the "assigned
value” of each character of the VIN, utilizing table "B", shown below.
Multiply the numbers in line "B" by the numbers in line "C", for each n' Su
of the 17 dgits in the VIN. Record the product of each of these separste
computations im the appropriste boxes in line "D". Add together all of
the numbers recorded in line "D" and eater the final sum in the space
provided. Divide the final sum by the nusber "11". The remainder of this
division 1is the "CHECK DIGIT" (the 9th character of the 17 digit VIN).

1f the remaindar of this division is » single digit nusber, them it showld
satch the "CHECK DIGIT" in the VIN exactly; if the remainder ia the mmber
¥10", then the "CHECK DIGIT" is the letter “X“.

. TABLE "p" .
‘ ) Al J=l Te) 1=] 6e6 Assign to each nusber in the VIN its ectual value and
s Bel Kw2 Usng 2e2 7w} recurd that value in the appropriate box ia 1ise “3".
< . €e3 L3 VeS 3Je] BeB
o Dek Web Web ded 9e9 The letters of "1, "0" & “Q" sre never used is the
g E*S WeS Xe7 3a5 Qw0 nev 17 digit VIR'S,
’ .- b Pal) Te§
Ju . Ge1 M9 2w9
T M-l ged

To determine the year of manufacture from tha 17 digit VIN (chavscter #10 of the VIN)
use the following:

1980=4 1982«C 1984eg 1986~C
+ 1981=3 19830 1985«F 1987=8 Ete. N
Sxamples 1981 Pord Mustamg VIN - LFABP12AM4BR101093 Pinal Sum = 246 n 22:
&
) 22
26

CHECX DIGIT 4
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VIN "CHECK DIGIT" DECODER

Beginning with the 1981 model year, all vehicles with a GVW rating of 10,000 pounds
or less, have a 17 character fixed format VIN, with s check digit within the number.
This applies to passenger cars, multi-purpose passenger vehicles, trucks, buses,

trailers, incomplete vehicles, and motorcycles.

The first three characters of the

VIN identify the nation of origin, manufacturer, make and type of vehicle. The next
five characters uniquely identify the attributes of the vehicle such as wmodel, body,

engine type, and restraint system.
intended to verify the accuracy of the VIN.

The ninth character is the CHECK DIGIT and is
The tenth character represents the

vehicle model year; the eleventh represents the plant of manufacture; and the last
8ix characters represent the sequential production number, (See your NATB manual).
N

N
The following table and procedure will enable you todecode the VIN's "CHECE DIGTT".

2

(b 17

/
/

245 672 9 01142 1314 /15
F ElE

59

A

30

D 1 /8130

, ({2l / K H Glolal”/
gl‘/}/‘?@%/&/ A/ 173l lol o7
clPi7le s g2 (2]olo|7|flzie SIZI2 ]2
DIF g7 Yol /1§17 019

¥

value”

On line "A" enter the 17 digit VIN. On line "B" enter the ‘assigned
of each character of the VIN, utilizing table "B", shown below. -

Multiply the numbers in line "B" by the mumbers in 1ine "C", for each

of the 17 dgits in the VIN.

provided.
division is the
If the remainder of this division is a sin
match the "CHECK DIGIT" in the VIN exactly

"10".

A=1
B=2
c=3
D=
E=S
F=6
G=7
He8

Divide the final sum by the number "11".
"CHECK DIGIT" (the 9th character of the 17 digit VIN),
gle digit number, then it should
i 1f the remainder is the number

Record the product of each of these separate
computations in the appropriate boxes in line "D". Add together all of
the numbers recorded in line "D" and enter the final sum in the space

then the "CHECK DIGIT" is the letter "X".

J=1
K=2
L=3
M=4
N=5
P=7
R=9
S§=2

T=3
U=mg
V=5
Web
Xm7
Y=8
=9

1=1
2=2
3=3
b4=4
5=5

6=6
=7
8=8
9=9
0=0

TABLE "B"

The remainder of this

final s

‘1 Sw-

Assign to each number in the VIN 1its actual value and
record that value in the appropriate box im line "B".

The letters of "I", “0" & "Q" are never usad in the

new 17 digit VIN'S.

To determine the year of manufacture from the 17 digit VIN (character #10 of the VIN)
use the following:

1980=A
1981=8

1982=C
1983=D

1984=E 1986=C
1985=F 1987=H Etc.

Example: 1981 Ford Mustang VIN - 1FABP12A4BR101093 Final Sum = 246
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VIN "CHECK DIGIT" DECODER [
Beginning with the 1981 model year, all vehicles with a GVW rating of 10,000 pounds
or less, have a 17 character f{xed format VIN, with a check digit vithin the number.
. This applies to passenger cars, multi-purpose passenger vehicles, trucks, buses,
trailers, incomplete vehicles, and wotorcycles. The first three characters of the
VIN tdentify the nationm of origin, manufacturer, make and type of vehicle. The next :
five characters uniquely identify the attributes of the vehicle such as wodel, body, - ~ -
engine type, and restraint system. The ninth character is the CHECK DIGIT and 1s
intended to verify the accuracy of the VIN. The tenth character represents the ) J
vehicle model year; the eleventh represents the plant of manufacture; and the last _ -
8ix characters represent the sequential production number, (See your MATB manual).
\
The following table and procedure will ensble you toldecode the VIN's "CHECE nroTee.
, - )
. -~ ‘
£ 2 3 4S5 678 G 001112 131915 14 17
A1 0ima(Fisioje | 27]k[alzl3 cl6]e ] ¢
Cll4la ]2 [€]X 21033 fe]sTo T,
o 7<€sq39\l0678765l{3—{
D7 P& |5Hfso| s [3 [a]20] Tiglg Rilg 50]0 |0
T - N Co- - - final s
On line "A" enter the 17 digit VIN. On line "B™ enter the "assigned
value" of each character of the VIN, utilizing table "B", shown below.
Multiply the numbers in line "B" by the mumbers in 1ine "C", for each 11' S
of the 17 dgits in the VIN. Record the product of each of these separate
computations in the appropriate boxes in line “p, Add together all of
the nuabers recorded in line "D" and enter the final sum in the space
provided. Divide the final sum by the number "11", The remainder of this
¥ divisfon is che "CHECK DIGIT" (the 9th character of the 17 digit VIN),
If the remainder of this division is a single digit number, then it should
match the "CHECK DIGIT" in the VIN exactly; 1f the remainder is the number
"10", then the "“CHECK DIGIT" is the letter “x".
TABLE "
A*l Jel T=3 ]a} 6~6 Assign to each number in the VIN its sctual value and
B=2 K=2 Us=f 2«2 7=7 tecord that value in the appropriate box ia line “3". v
Co3 L=3 V=5 3Ju3) geg
D=b Mud Web 4u4 9e9 The letters of "I%, “o» & “Q" are never used ia the
E=5 N5 X=7 5= 0=0 new 17 digit VIN'S.
F=b6 Pa7 Yug
G=7 R=9 2a9
H=8 S=2

To determine the year of manufacture from the 17 digit VIN (character #10 of the VIN)
use the following:

1980=A 1982=C 1984 1986=C
1981=8 1983=d 1985«F 1987« Etc.
Example: 1981 Pord Mustang VIN - 1FABP12A4BR101093  Final Sum = 246 22
11 246
22

26 ) ;
CHECK DIGIT 3
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VIN "“CHECK DIGIT" DECODER ‘

Baginning with the 1981 model year, all vehicles with a CVW rating of 10,000 pounds
or less, have a 17 character fixed format VIN, with 8 check digit vithin the number.
This applies to passenger cars, sult{-purpose passenger vehicles, trucks, buses,
trailers, incomplete vehicles, and motorcycles. The first three characters of the

VIN fdentify the nation of origin, manufacturer, make and type of vehicle. The next J
five characters uniquely identify the attributes of the vehicle such as wodel, body, -
engine type, and restraint system. The ninth character is the CHECK DIGIT and s

intended to verify the accuracy of the VIN. The tenth character represents the

vehicle wodel year; the eleventh represents the plant of manufacture; and the last

six Characters represent the sequential production m::.r (See your NATE menuasl).

The following table and procedure will ensble you toYdecode the VIN's “CHECK DICTT®.

[ 2 34 S 67 3 9 101 (31415 (b 17
AL (Iml2id]Bl/ 1621 TK{AI3131elelo]R
Gl lafalxlalt {0 |> Al 313 felo]c |2
elsl7lelslal 3]2]vo Tl le]s [ ]3 KX
DI{F oISl s [S [o]ae] |8 iig|polo [0 |
T e - e ¢ — ———— . . fihlls

On line "A" enter the 17 digit VIN. On line “B" enter the Tassigned
value" of each character of the VIN, utilizing table "B", shown below.
Multiply the numbers in line "B" by the numbers in line "C", for each 11] S
of the 17 dgits in the VIN. Record the product of each of these separate
computations in the appropriate boxes in line "D". Add together all of
the numbers recorded in line "D" and enter the final sum in the space
provided. Divide the final sum by the number "11". The remainder of this
division is che "CHECK DIGLT" (the 9th character of the 17 digit VIN).

If the remainder of this division is a single digit number, then it should
match the "CHECK DIGIT" in the VIN exactly; if the remainder is the number
"10", then the "CHECK DIGIT" is the letter X",

TABLE "s"
A=l J=] T=) 1=1 6=§ Assign to each number in the VIN 1ts actusl valus snd
Be2 K=2 Us=4 222 7a7 record that value in the appropriate box in line "B".
Ce) L=3 V=5 3=3 g=8
Dek Mok Wb 4m4 99 The letters of "I", 0" & "Q" are never used ia the
E=5 Ne5 Xu7 5e5 Qw0 new 17 digit VIN'S. .
Pn6 P=7 Y=8
G=7 R=9 Z=9
H=8 S=2

To determine the year of manufacture from the 17 digit VIN (character #10 of the VIN)
use the following:

1980=A : 1982=C 1984=¢ 1986=C
1981=8 1983=p 1985=F 1987=R Ete.
Ezampla: 1981 Pord Mustang VIN - 1FABP12A4BR101093 Pinal Sum = 246 22
11 [246
122




